6x-4	4x =	2x
------	------	----

$$-12(-2x+1) = 5 + 24x$$

$$\frac{x}{9} - 4 = \frac{2}{3}$$

$$3\left[x-\left(-4\right)\right] = x+12+2x$$

Create your own Equation that has
Infinitely Many Solutions
and solve to verify

Create your own Equation that has

No Solution

and solve to verify

Inf. Sol.

$$-12(-2x+1) = 5 + 24x$$

$$-24x - 12 + 5 + 24x$$

$$-24x$$

$$-12 + 5$$
No Solution

$$\frac{x}{9} + 4 = \frac{2}{3} + 4$$

$$9 \cdot \frac{x}{9} + 4 = \frac{2}{3} \cdot 9$$

$$x = \frac{14}{3} \cdot 9^{3} = \frac{14$$

$$3[x-(-4)] = x+12+2x$$

$$3(x+4) = x+12+2x$$

$$3x+12 = x+12+2x$$

$$3x+12 = 3x+12$$
Inf. 5.1.

Create your own Equation that has

Infinitely Many Solutions

and solve to verify

$$8x + 4x = 4x + 8x$$

$$7x + 5 = 7x + 5$$

$$3(2x-5) = -15 + 6x$$

$$6x - 15 = -15 + 6x$$

$$+15 = -15 + 6x$$

Create your own Equation that has **No Solution**

 $-\frac{2}{6(-6x+1)} = 5 + 36x$ $-\frac{3}{6} \times \frac{7}{6} = 5 + 36x$ $-\frac{3}{6} \times \frac{7}{6} = 5 + 36x$